Arbeidshefte - Lgsningsforslag
Rasjonale likninger

Arbeidshefte
L#sningsforslag

Rasjonale likninger

Innhold

Oppgave 1
Oppgave 2
Oppgave 3
Oppgave 4
Oppgave 5
Oppgave 6
Oppgave 7
Oppgave 8
Oppgave 9 *
Oppgave 10
Oppgave 11

Matte er ggy! 1



Arbeidshefte - Lgsningsforslag
Rasjonale likninger

Oppgave 1
(Tilbake til Innhold)
1) 4)
2_ 6 r_12
r 30 5 6
2_1 T_o
T 5 5
2.5=1-x r=10
r =10
5)
2) T _ 7
. s 30 10
T v _7
15 75 3= 1
ﬁ—i —73
15 15 =
3) 6)
2 =22
20 ~ 10 17 r+9
r 2 2(x+9) =17(x — 6)
2 1 27 + 18 = 17z — 102
r=2-2 20 — 17z = —102 — 18
r=4 152 = 120
r =28

2 Matte er ggy!



Arbeidshefte - Lgsningsforslag
Rasjonale likninger

Oppgave 2
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(Tilbake til Innhold)
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Oppgave 9 *
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Oppgave 10
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